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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) narjmWu gd©àW_ AnZo àíZ-nÌ na Zm_m§H$ A{Zdm ©̀V… {bI|&

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) g^rg^rg^rg^rg^r àíZ hb H$aZo A{Zdm ©̀ h¢&
All the questions are compulsory.

3) àË òH$ àíZ H$m CÎma Xr JB© CÎma-nwpñVH$m _| hr {bI|&
Write the answer to each question in the given answer-book only.

4) {OZ àíZm| Ho$ AmÝV[aH$ IÊS> h¢, CZ g^r Ho$ CÎma EH$ gmW hr {bI|&
For questions having more than one part, the answers to those parts are to
be written together in continuity.

5) àíZ-nÌ Ho$ {hÝXr d A§J«oOr ê$nm§Va _| {H$gr àH$ma H$s Ìw{Q> / A§Va / {damoYm^mg hmoZo na {hÝXr ^mfm
Ho$ àíZ H$mo ghr _mZ|&
If there is any error / difference / contradiction in Hindi & English versions
of  the question paper, the question of Hindi version should be treated
valid.

6) àíZ H«$_m§H$ 16 go 22 ‘| AmÝV[aH$ {dH$ën h¢&
There are internal choice in Q. No. 16 to 22.
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IÊS> - AIÊS> - AIÊS> - AIÊS> - AIÊS> - A

SECTION  - A

~hþ{dH$ënr àíZ:

1) {ZåZ àíZm| Ho$ CÎma H$m ghr {dH$ën M¶Z H$a CÎmanwpñVH$m ‘| {b{IE -

Multiple Choice Questions -

Write the correct option of answer of the following questions in the answer book-

i) Fe + H2O  Fe3O4 + H2

Cnamoº$ A{^{H«$`m H$s g§Vw{bV g_rH$aU _| H2 H$m JwUm§H$ hmoJm - [1]

(A) 1 (~) 2

(g) 3 (X) 4

Fe + H2O  Fe3O4 + H2

Coefficient of H2 in balanced equation of the above reaction will be -

(A) 1 (B) 2

(C) 3 (D) 4

ii) B_br _| CnpñWV Aåb h¡ - [1]

(A) Am°Šg¡{bH$ Aåb (~) Q>mQ>©[aH$ Aåb

(g) b¡pŠQ>H$ Aåb (X) _oW¡ZmoBH$ Aåb

An acid present in tamarind is -

(A) Oxalic acid (B) Tartaric acid

(C) Lactic acid (D) Methanoic acid

iii) g~go A{YH$ VÝ` YmVw h¡ - [1]

(A) _H©$ar (~) boS>

(g) gmoZm (X) gmo{S>`_

The best ductile metal is -

(A) Mercury (B) Lead

(C) Gold (D) Sodium
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iv) H$m~m}pŠg{bH$ Aåb _| CnpñWV àH$m`m©Ë_H$ g_yh h¡ - [1]
(A) –OH (~) –C–

O
H

(g) –C (X) –C–OH

O O
Functional group present in Carboxylic acid is -
(A) –OH (B) –C–

O
H

(C) –C (D) –C–OH

O O

v) _mZd _| \w$â\w$g EH$ V§Ì H$m ^mJ h¡, Omo g§~§{YV h¡ - [1]
(A) nmofU (~) CËgO©Z
(g) ídgZ (X) n[ag§MaU
The lungs in human beings are part of the system for -
(A) Nutrition (B) Excretion
(C) Respiration (D) Circulation

vi) nm`ê$doQ> H$m {dI§S>Z H$m¡Zgo H$mo{eH$m§J _| hmoVm h¡? [1]
(A) H$mo{eH$mÐì` (~) _mBQ>moH°$mpÝS´>`m
(g) h[aVbdH$ (X) Ho$ÝÐH$
In which cell organelle does the breakdown of pyruvate occur?
(A) Cytoplasm (B) Mitochondria
(C) Chloroplast (D) Nucleus

vii) H$m¡Zgr A§V…òmdr J«§{W eara H$s d¥{Õ Ho$ {bE CnmnM` H$m {Z`_Z H$aVr h¡? [1]
(A) nr ỳf J«§{W (~) Wm`am°BS> J«§{W
(g) ES´>rZb J«§{W (X) A½Ý`me`
Which endocrine gland regulates metabolism for body growth?
(A) Pituitary gland (B) Thyroid gland
(C) Adrenal gland (D) Pancreas
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viii) _wHw$bZ Ûmam Ab¢{JH$ OZZ {H$g_| hmoVm h¡? [1]
(A) A_r~m (~) hmBS´>m
(g) ßb¡µÁ_mo{S>`_ (X) boñ_m{Z`m
In which, asexual reproduction takes place through budding?
(A) Amoeba (B) Hydra
(C) Plasmodium (D) Leishmania

ix) {ZåZ{b{IV _| go à^mdr bjUm| H$m ghr {dH$ën h¢ & [1]
(A) b§~o VWm PwauXma ~rO (~) ~m¡Zo VWm Jmob ~rO
(g) b§~o VWm Jmob ~rO (X) ~m¡Zo VWm PwauXma ~rO
Which of the following is the correct option for the dominant traits.
(A) Tall and wrinkled seeds (B) Short and round seeds
(C) Tall and round seeds (D) Short and wrinkled seeds

x) EH$ ì`{º$ g_Vb Xn©U go 5 _rQ>a Xÿa IS>m h¡ & ì`{º$ VWm CgHo$ à{V{~å~ Ho$ ~rM Xÿar _rQ>a _|
hmoJr - [1]
(A) 2.5 (~) 10
(g) 15 (X) 20
A man is standing a 5 meter away from a plane mirror. The distance between
the man and its image in meter will be -
(A) 2.5 (B) 10
(C) 15 (D) 20

xi) àH$me AndV©Z H$s KQ>Zm _| `{X sin i = c Am¡a sin r = d h¡ Vmo AndV©Zm§H$ () hmoJm - [1]

(A)  = cd (~)
d
c

m=

(g)
c
d

m= (X) cdm=

In the phenomenon of refraction of light if sin i = c and sin r = d then
refractive index () will be -

(A)  = cd (B)
d
c

m=

(C)
c
d

m= (D) cdm=
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xii) {ZåZm§{H$V _| go {H$g a§J H$m Va§JX¡Ü ©̀ A{YH$V_ h¡ - [1]
(A) nrbm (~) bmb
(g) ~¢JZr (X) ham
Which of the following colour has the maximum wavelength -
(A) yellow (B) red
(C) violet (D) green

xiii) {XE JE {Ì ŵOmH$ma {àÁ_ Ho$ {bE {dMbZ H$moU h¡ - [1]

(A) r (~) e

(g) y (X) i
The angle of deviation for the given triangular prism is

(A) r (B) e
(C) y (D) i
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xiv) Kaobw {dÚwV n[anW _| gm_mÝ`V… {dÚwV gm{YÌmo (CnH$aUm|) H$mo {H$g H«$_ _| Omo‹S>Vo h¡ - [1]

(A) Ho$db loUrH«$_ _|

(~) Ho$db nmœ© (g_m§Va) H«$_ _|

(g) XmoZm| nmœ© (g_m§Va) H«$_ d loUr H«$_ _|

(X) Zm hr nmœ© (g_m§Va) H«$_ _| Am¡a Zm hr loUrH«$_ _|

In which order are the electric appliances (instruments) generally connected
in the domestic electric circuit -

(A) only in series

(B) only in parallel

(C) both in parallel and in series

(D) neither in parallel nor in series

xv) âboq_J Ho$ dm_hñV (~m`m± hmW) {Z`_ Ho$ {bE ghr h¡ - [1]

(A) _Ü`_m - M§w~H$s` joÌ H$s {Xem H$s Amoa

(~) VO©Zr - {dÚwV Ymam H$s {Xem H$s Amoa

(g) A±JyR>m - MmbH$ H$s J{V H$s {Xem H$s Amoa

(X) Cnamoº$ g^r

True for a Fleming's Left - hand rule :

(A) middle finger - towards the direction of magnetic field

(B) fore finger - towards the direction of electric current

(C) thumb - towards the direction of motion of conductor

(D) all of above
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2) [aº$ ñWmZm| H$s ny{V© H$s{OE -

Fill in the blank places -

i) Ob Ho$ d¡ÚwVAnKQ>Z _| EoZmoS> na _wº$ hmoZo dmbr J¡g H$m Zm_ ................... h¡ & [1]

Name of the gas released on anode in the electrolysis of water is _________.

ii) HNO3 Ho$ {d`moOZ go àmá G$Um`Z H$m amgm`{ZH$ gyÌ ............ h¡ & [1]

Chemical formula of anion obtained by the dissociation of HNO3 is
__________.

iii) CH4 AUw _| CnpñWV ghg§̀ moOH$ Am~§Ym| H$s g§»`m ............ h¡ & [1]

Number of covalent bonds present in CH4 molecule is __________.

iv) jwÐm§Ì Ho$ Am§V[aH$ AmñVa na AZoH$ A§Jwbr - O¡go àdY© hmoVo h¡ {OÝh| ............. H$hVo h¡ & [1]

The inner lining of the small intestine has numerous finger - like projection
called as __________.

v) O§VwAm| _| {Z §̀ÌU VWm g_Ýd` ................. VWm noer CÎmH$ Ûmam {H$`m OmVm h¡ & [1]

In animals, control and coordination are provided by _______ and muscular
tissues.

vi) {Zdm©V _| àH$me H$s Mmb H$m _mZ ............. m/s hmoVm h¡ & [1]

The value of speed of light _________ m/s in vacuum.

vii) {ZH$Q> - Ñ{ï> Xmof {ZdmaU _| ................. b|g Cn`moJr hmoVm h¡ & [1]

_________ lens is useful in correcting nearsightedness.
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3) A{VbKwÎmamË‘H$ àíZ (àíZm| H$m CÎma EH$ eãX ¶m EH$ n§{³V ‘| {b{IE &)

Very short answer question (Answer the questions in one word or in one line.)

i) H$m±gm _| Vm±~m Ho$ gmW {_{lV Xÿgar YmVw H$m Zm_ {b{IE & [1]

Write name of the second metal mixed with copper in bronze.

ii) qOH$, nmoQ>¡{e`_ VWm boS> _| go M`Z H$aHo$ jmar` YmVw H$m Zm_ {b{IE & [1]

Select and write name of the alkali metal among zinc, potassium and lead.

iii) CH3–CH2–CH2–Br H$m Zm_ {b{IE & [1]

Write the name of CH3–CH2–CH2–Br.

iv) VrZ H$moîR>r` öX` H$m¡Zgo O§VwAm| _| nm`m OmVm h¡? [1]

Which animals have three chambared heart?

v) ag g§doXr J«mhr go Š`m kmV hmoVm h¡? [1]

What is sensed from gustatory receptors?

vi) Xmo dmBag O{ZV g§H«$m_H$ amoJm| Ho$ Zm_ {b{IE & [1]

Write the name of two virus borne infectious diseases.

vii) _|S>b Ho$ bjUm| H$s d§emJ{V Ho$ à`moJ _| F1 nr‹T>r _| àmá nm¡Ym| _| b§~o nm¡Ym| H$m AZwnmV / à{VeV
Wm & [1]

In the experiment of Mendel's law of inheritance, the proportion / percentage
of tall plants obtained in F1 progeny was.
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viii) AdVb Xn©U Ho$ H$moB© Xmo Cn`moJ {b{IE & [1]

Write two uses of a concave mirror.

ix) àH$me Ho$ {djonU H$mo n[a^m{fV H$s{OE & [1]

Define dispersion of light.

x) UNEP H$mo {dñVmanyd©H$ {b{IE & [1]

Write the full form of UNEP.

IÊS> - ~IÊS> - ~IÊS> - ~IÊS> - ~IÊS> - ~

SECTION  - B

bKwÎmamË‘H$ àíZ …  àíZ g§»¶m bKwÎmamË‘H$ àíZ …  àíZ g§»¶m bKwÎmamË‘H$ àíZ …  àíZ g§»¶m bKwÎmamË‘H$ àíZ …  àíZ g§»¶m bKwÎmamË‘H$ àíZ …  àíZ g§»¶m 4 go  go  go  go  go 15 Ho$ CÎma CÎmanwpñVH$m ‘§o {b{IE & (eãX gr‘m  Ho$ CÎma CÎmanwpñVH$m ‘§o {b{IE & (eãX gr‘m  Ho$ CÎma CÎmanwpñVH$m ‘§o {b{IE & (eãX gr‘m  Ho$ CÎma CÎmanwpñVH$m ‘§o {b{IE & (eãX gr‘m  Ho$ CÎma CÎmanwpñVH$m ‘§o {b{IE & (eãX gr‘m 50 eãX) eãX) eãX) eãX) eãX)
Short answer type question-Write the answers of question number 4 to 15 in
answer book (Word limit 50 words)

4) NaHCO3(s) + HCl(aq)  [X] + H2O(l) + CO2(g)

Cnamoº$ A{^{H«$`m _| `m¢{JH$ [X] H$m amgm`{ZH$ Zm_ d gyÌ {b{IE & [2]

NaHCO3(s) + HCl(aq)  [X] + H2O(l) + CO2(g)

Write chemical name and formula of compound [X] in above reaction.

5) ""Eobw{_{Z`_ YmVw na ^mn H$s {H«$`m go hmBS´>moOZ J¡g ~ZVr h¡ &''

Cnamoº$ H$WZ Ho$ à`moJembm narjU Ho$ {bE à ẁº$ CnH$aU H$mo {M{ÌV H$s{OE & [2]

"Hydrogen gas is obtained on the action of steam on aluminium metal".

Draw the systematic equipment used for laboratory testing of above statement.

6) gm_mÝ` gyÌ CnH2n _| n = 2 aIZo na àmá `m¡{JH$ H$m Zm_ d gyÌ {b{IE & [2]

Write name and formula of compound obtained on putting n = 2 in general
formula CnH2n.
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7) ZmBQ´>moOZ AUw H$s BboŠQ´>m°Z q~Xþ g§aMZm H$mo {M{ÌV H$s{OE & [2]
Draw electron dot structure of nitrogen molecule.

8) J ©̂{ZamoYH$ ẁ{º$`m± AnZmZo H$m H$maU g_PmBE & [2]
Explain the reason for adopting contraceptive devices.

9) {ZåZ OrZmoQ>mBn ẁº$ ~rOmo Ho$ ~mø bjU {b{IE &
i) RRyy
ii) rrYY

[1+1=2]
Write the external feature of the genotype of following seeds.

i) RRyy
ii) rrYY

10) H$moB© {dÚwV ~ë~ 220V Ho$ O{ZÌ go g§̀ mo{OV h¡ & `{X ~ë~ go 1A {dÚwV Ymam àdm{hV hmoVr h¡ Vmo ~ë~ H$s
e{º$ Š`m h¡? [2]

An electric bulb is connected to a 220 V generator, if the current flowing in bulb
is 1A. What is the power of the bulb?

11) {ZåZ n[anW {MÌ _| A d B Ho$ _Ü` Vwë` à{VamoY kmV H$s{OE & [2]

Find out equivalent resistance between the points A and B in the following
circuit diagram. 4 4

8

4

A
B

4 4

8

4

A
B
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12) EH$ N>S> Mw§~H$ Ho$ {bE Mw§~H$s` joÌ aoImAm| H$m {MÌ ~ZmBE & [2]

Draw a magnetic field lines of a bar magnet.

13) {H$gr Ymamdmhr d¥ÎmmH$ma nme Ûmam CËnÞ Mw§~H$s` joÌ aoImE± àX{e©V H$s{OE & [2]

Represent the magnetic field lines of a current carrying circular loop.

14) nm[aV§Ì Ho$ O¡d, AO¡d KQ>H$m| Ho$ Xmo-Xmo CXmhaU {b{IE & [1+1=2]

Write two examples of each biotic, Abiotic components of ecosystem.

15) dm ẁ_§S>b _| Am°ŠgrOZ go AmoOmoZ ~ZZo H$s {H«$`m{d{Y g_PmBE & [2]

Explain the mechanism of formation of ozone from oxygen in the atmosphere.

IÊS> - gIÊS> - gIÊS> - gIÊS> - gIÊS> - g

SECTION  - C

XrK© CÎmamË‘H$ àíZ … àíZ g§»¶m XrK© CÎmamË‘H$ àíZ … àíZ g§»¶m XrK© CÎmamË‘H$ àíZ … àíZ g§»¶m XrK© CÎmamË‘H$ àíZ … àíZ g§»¶m XrK© CÎmamË‘H$ àíZ … àíZ g§»¶m 16 go  go  go  go  go 19 Ho$ CÎma CÎmanwpñVH$m ‘| {b{IE & (eãX gr‘m  Ho$ CÎma CÎmanwpñVH$m ‘| {b{IE & (eãX gr‘m  Ho$ CÎma CÎmanwpñVH$m ‘| {b{IE & (eãX gr‘m  Ho$ CÎma CÎmanwpñVH$m ‘| {b{IE & (eãX gr‘m  Ho$ CÎma CÎmanwpñVH$m ‘| {b{IE & (eãX gr‘m 100     eãX)eãX)eãX)eãX)eãX)

Long answer type question-Write the answers of question number 16 to 19 in
answer book (Word limit 100 words)

16) i) Xm±Vm| Ho$ BZ¡_b _§o CnpñWV nXmW© H$m amgm`{ZH$ Zm_ {b{IE &

ii) _w±h _| pH n[adV©Z Ho$ H$maU Xm±V - j` H¡$go àma§̂  hmoVm h¡? g_PmBE &

[1+2=3]

i) Write chemical name of substance present in tooth enamel.

ii) How tooth - decay get started due to pH change in mouth? Explain

AWdm/OR

i) Aåbr` dfm© H$mo n[a^m{fV H$s{OE &

ii) YmpËdH$ Am°ŠgmBS> jmaH$s` àH¥${V Ho$ Š`m| hmoVo h¢? g_PmBE &

[1+2=3]

i) Define acid rain.

ii) Why metallic oxides are basic in nature? Explain.

[ Turn Over
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17) Xmo nmXn hm°_m}Z Ho$ Zm_ {b{IE VWm àË òH$ H$m H$m ©̀ g_PmBE & [½+½+1+1=3]

Write the names of two plant hormone and explain the function of each.

AWdm/OR

A§VJ«©WZ ({gZoßg) H$mo n[a^m{fV H$s{OE VWm V§{ÌH$m H$mo{eH$m (Ý ỳam°Z) Ho$ H$m`m] H$m dU©Z H$s{OE &

[1+2=3]

Define synapse and explain functions of neuron.

18) A_r~m d boñ_m{Z`m _| {ÛI§S>Z H$m {MÌ ~ZmBE & [1½+1½=3]

Draw a diagram of binary fission in Amoeba and Leishmania.

AWdm/OR

nwîn H$s AZwX¡Ü ©̀ H$mQ> H$m Zm_m§{H$V {MÌ ~ZmBE & [3]

Draw a labelled diagram of longitudinal section of flower.

19) i) {dÚwV n[anW H$mo n[a^m{fV H$s{OE &

ii) Amo_ Ho$ {Z`_ H$m H$WZ {b{IE &

iii) Amo_ Ho$ {Z`_ _| {dÚwV {d^dmÝVa (V) Ed§ {dÚwV Ymam (I) Ho$ _Ü` J«m\$ (AmaoI) ~ZmBE &

[1+1+1=3]

i) Define electric circuit.

ii) Write statement of ohm's law.

iii) Draw a graph between potential difference (V) and electric current (I)
according to ohm's law.
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AWdm/OR

i) {dÚwV {d^dmÝVa H$mo n[a^m{fV H$s{OE &

ii) 1kWh H$m _mZ Oyb _| {b{IE &

iii) {ZåZm§{H$V {dÚwV Ad`dm| Ho$ àVrH$ ~ZmBE &

A) {dÚwV gob

~) ~¡Q>ar

[1+1+1=3]

i) Define electric potential difference.

ii) Write the value of 1kWh in joule.

iii) Make symbol of the following electrical components.

a) electric cell

b) battery

IÊS> - XIÊS> - XIÊS> - XIÊS> - XIÊS> - X

SECTION  - D

{Z~ÝYmË‘H$ àíZ … àíZ g§»¶m {Z~ÝYmË‘H$ àíZ … àíZ g§»¶m {Z~ÝYmË‘H$ àíZ … àíZ g§»¶m {Z~ÝYmË‘H$ àíZ … àíZ g§»¶m {Z~ÝYmË‘H$ àíZ … àíZ g§»¶m 20 go  go  go  go  go 22 Ho$ CÎma CÎmanwpñVH$m ‘| {b{IE (eãX gr‘m  Ho$ CÎma CÎmanwpñVH$m ‘| {b{IE (eãX gr‘m  Ho$ CÎma CÎmanwpñVH$m ‘| {b{IE (eãX gr‘m  Ho$ CÎma CÎmanwpñVH$m ‘| {b{IE (eãX gr‘m  Ho$ CÎma CÎmanwpñVH$m ‘| {b{IE (eãX gr‘m 250 eãX) eãX) eãX) eãX) eãX)
Essay type question-Write the answers of question number 20 to 22 in answer
book (Word limit 250 words)

20) i) g§jmaU H$mo n[a^m{fV H$s{OE &

ii) qOH$ + H$m°na gë\o$Q>  qOH$ gë\o$Q> + H$m°na

Cnamoº$ eãX - g_rH$aU Ho$ {bE g§Vw{bV amgm`{ZH$ g_rH$aU {b{IE &

iii) gỳ © Ho$ àH$me H$s CnpñW{V _| {gëda ŠbmoamBS> Ho$ {d`moOZ Ho$ àXe©Z Ho$ {bE ì`dpñWV CnH$aU H$mo
{M{ÌV H$s{OE &

[1+1+2=4]

i) Define corrosion

ii) Zinc + Copper sulphate  Zinc sulphate + Copper

Write balanced chemical equation for above word - equation.

iii) Draw the systematic equipment for exhibition of decomposition of silver
chloride in presence of sunlight.

[ Turn Over
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AWdm/OR

i) D$î_mjonr amgm`{ZH$ A{^{H«$`m H$mo n[a^m{fV H$s{OE &

ii) gmo{S>`_ gë\o$Q> + ~o[a`_ ŠbmoamBS>  ~o[a`_ gë\o$Q> + gmo{S>`_ ŠbmoamBS>

Cnamoº$ eãX-g_rH$aU Ho$ {bE g§Vw{bV amgm`{ZH$ g_rH$aU {b{IE &

iii) gmo{S>`_ gë\o$Q> VWm ~o[a`_ ŠbmoamBS> Ho$ _Ü` {Û{dñWmnZ A{^{H«$`m Ho$ àXe©Z Ho$ {bE ì`dpñWV
CnH$aU H$mo {M{ÌV H$s{OE &

[1+1+2=4]

i) Define exothermic chemical reaction.

ii) Sodium sulphate + Barium chloride  Barium sulphate + Sodium chloride

Write balanced chemical equation for above word - equation.

iii) Draw the systematic equipment used for exhibition of double displacement
reaction between sodium sulphate and barium chloride.

21) i) ñd §̀nmofr nmofU VWm {df_nmofr nmofU _| Xmo A§Va g_PmBE &

ii) _mZd nmMZV§Ì H$s g§aMZm H$m Zm_m§{H$V {MÌ ~ZmBE &

[2+2=4]

i) Explain the two differences between autotrophic nutrition and heterotrophic
nutrition.

ii) Draw a labelled diagram of the structure of human digestive system.

AWdm/OR

i) A_r~m _| nmofU g_PmBE &

ii) A_r~m _| nmofU H$mo Xem©Zo dmbm Zm_m§{H$V {MÌ ~ZmBE &

[2+2=4]

i) Explain the nutrition in Amoeba.

ii) Draw a labelled diagram showing nutrition in Amoeba.
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22) i) {H$gr Jmobr` Xn©U Ho$ {bE AmdY©Z H$m gyÌ {b{IE &

ii) Jmobr` Xn©U Ho$ {bE Xn©U gyÌ {b{IE &

iii) `{X EH$ Jmobr` Xn©U H$s \$moH$g Xÿar 28 cm h¡ Vmo BgH$s dH«$Vm {ÌÁ`m kmV H$s{OE &

[1+1+2=4]

i) Write the formula of magnification for a spherical mirror.

ii) Write the mirror formula for a spherical mirror.

iii) If the focal length of a spherical mirror is 28 cm then find its radius of
curvature.

AWdm/OR

i) {H$gr Jmobr` b|g Ho$ {bE AmdY©Z H$m gyÌ {b{IE &

ii) b|g H$s j_Vm H$mo n[a^m{fV H$s{OE &

iii) `{X EH$ b|g H$s \$moH$g Xÿar 100 cm h¡ Vmo BgH$s j_Vm kmV H$s{OE &

[1+1+2=4]

i) Write the formula of magnification for a spherical lens.

ii) Define the power of lens.

iii) If the focal length of lens is 100 cm then find its power.


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